






















4 Error Bound on Alternating Series

While the Alternating Series Test doesn’t give us a way to compute the sums
of series, it says they converge, but can get us pretty close.

Corollary. Let S =
∞�

n=1

(−1)n−1bn where {bn} is a positive decreasing se-

quence that converges to 0. Then
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Example: Analyze
∞�

n=1

(−1)n−1

n
. Does it converge? What else do we know

about it? How close is S10 to the limit S?
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Example: Determine convergence or divergence of the following series:

∞�

n=1

(−1)nn√
n2 + 1

∞�

n=2

(−1)n+1

n lnn
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